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[ RHT R 2,844 1,403| 1,441 1,061 (R T2 1 1,944 985 959 703 (BRI =3 ] 550 288 262 214
CH BT R 849 411 438 385 TR T B 2,487 1,273] 1,214 1,126 LR T BLAR) 1] 492 248 244 212
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FRYRITY 5L PEIFITBR 3T H 156 85 71 74 KT LT 1,959 962 997 748
R R 1T H 286 137 149 124 PRIERTEERAT A 288 136 152 115 REHTRET1IT H 170 92 78 82
FRARITY R 2T B 261 122 139 110 RIFHTFERS T B 624 339 285 307 RERTIEET2T H 191 110 81 92
HRETY R 3T H 256 130 126 97 PRIERTEER 6T A 256 115 141 97 REHTARET3 T H 127 72 55 55
FRRITY R feA T B 128 61 67 55 (RS T i ] 4,845\ 2,464 2,381 2,165 KERTIERTAT H 280 145 135 150
HRETY R 5T H 253 119 134 108 IUIEN [RHET ALHT] 2,727 1,381| 1,346 1,127
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HRETY R 7T A 153 76 77 64 BRIERTART2T A 94 46 48 43 KB HH1 T B 190 80 110 56
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[T W, 2 B ] 2,254\ 1,104| 1,150 958 [&)mT] 11,327 5,692| 5,635 4,674 [ REEmT] 4,758| 2,384 2,374| 1,970
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LRI R 3 ] 1,662 839 823 595 ()1 [T T 4H ] 307 155 152 118 [BEAHT /N 11] 38 17 21 18
[T i ] 1,492 739 753 618 EFNLEN 974 487 487 348 [ BEAHT 2 ] 56 31 25 26
[ 4T ] 13,512| 6,667 6,845 5,408 ()1 BT /e ] 210 106 104 81 [BEAHT £ ] 643 316 327 273
(RS T P 7 ] 118 65 53 46 ()10 b/ ] 363 175 188 162 [RAAMT )\ ] 207 100 107 95
CRAE T R 1,492 729 763 600 () 10T /NG ] 741 370 371 318 [BEAHT B A | ] 706 349 357 267
RS T A I 1,413 679 734 542 ()11 m7 4 ] 111 54 57 42 [RAAMT & H ] 867 418 449 171
CRAEJENT 1= E ] 1,175 591 584 459 [3E)11mT] 4,217| 2,093 2,124| 1,679 [BIAHT B AR ] 952 461 491 352
B HT & 1,265 643 622 466 (RArgmT#h N | ] 997 506 491 429 [ BEZHT] 3,469 1,692| 1,777 1,202
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BT S H2 T B 208 114 94 78 [RArEMTRIA T ] 325 168 157 112 AEF 42,131| 20,942| 21,189 16,905




